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«ÚÙ≈: √Ó≈«‹’ «√º«÷¡≈, ‹Ó≈Â: Á√ÚΔ∫

√Óª: D@ «Ó≥‡ ’πÒ ¡ß’:B@
(A)

Ì≈◊ - ¿  (Ì±◊ØÒ) ¡≥’-H
ÈØ‡ : √≈∂ ÍzÙÈ ˜±Δ ‘ÈÕ
A. ‹Ò ⁄º’ «’√ È±ø ’«‘øÁ∂ ‘È? (A)

B. Ì≈Â «Úº⁄ «’øÈ∂ ÍÃÂΔÙÂ ˜ÓΔÈ ÷∂ÂΔ ’ÈÔØ◊ ‘À? (A)

C. ◊ØÁ≈ÚΔ È±ø “Áº÷‰ ÁΔ Ïπº„Δ ◊ø◊≈” «’¿∞∫ ’«‘øÁ∂ ‘È? (B)

D. ‹ø◊Òª Á∂ Óπº÷ Ò≈Ì ’Δ ‘È? (B)

E. Ì≈Â Á∂ È’Ù∂ «Úº⁄ ÌØ:- (B)

A. ÈÓÁ≈ ¡Â∂ Â≈ÍÂΔ

B. ’‰’ Á∂ Óπº÷ ÷∂Â

Ì≈◊-¡ (¡Ê Ù≈√Â) ¡≥’-C
F. Ì≈Â ÁΔ ≈Ù‡Δ ¡≈ÓÁÈ «Úº⁄ ÷∂ÂΔ Á≈ ’Δ ÔØ◊Á≈È ‘À?        (A)

G. Ì≈ÂΔ ÷∂ÂΔ ÁΔ¡ª Óπº÷ √Óº«√¡≈Úª Á≈ ÚÈ‰ ’ØÕ (B)

Ì≈◊-¬ («¬«Â‘≈√) ¡≥’-F
H. Ó«‘Â≈Ï ’Ω ’Ω‰ √Δ? (A)

I. “«Âº’ÛΔ ÁΔ √ÍÃ√ÂΔ Á≈ ’≈Ò” «’√ È±ø «’‘≈ ‹ªÁ≈ ‘À? (A)

A@. ‰‹ΔÂ «√øÿ Á∂ Ò≈‘Ω ”Â∂ ’Ï˜∂ Á≈ ‘≈Ò «Ò÷ØÕ (B)

AA. ÂzÀÍº÷Δ √øËΔ ’Δ √Δ? (B)

Ì≈◊ - √  (È≈◊«’ Ù≈√Â) ¡≥’-C
AB. ≈‹Í≈Ò Á≈ ’≈‹’≈Ò «’øÈ≈ ‘øπÁ≈ ‘À? (A)

AC. ≈‹ Á∂ Óπº÷ Ó≥ÂΔ ÁΔ «ÈÔ∞’ÂΔ Á≈ ÚÈ‰ ’ØÕ (B)
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(A)

Part-A  (Geography) Marks-8

1. What is water-cycle? (1)

2. How much percent of land is under agriculture in India?     (1)

3. Why is river Godawari known as the old Ganga of the South?  (2)

4. What are main uses of forests? (2)

5. Show the following on the outline map of India:           (2)

(a) Narmada & Tapti rivers

(b) Main wheat producing areas.

Part-B (Economics) Marks-3

6. What is the contribution of agriculture to National Income

in India? (1)

7. Describe the main problems of Indian agriculture. (2)

Part-C (History) Marks-6

8. Who was Mehtab Kaur? (1)

9. Which era is termed as the Patronage of Trio? (1)

10. Describe the events of occupation of Lahore by Ranjit Singh. (2)

11. What was Tripartite Treaty? (2)

Part-D (Civics) Marks-3

12. Mention the term of the office of a Governor. (1)

13. How a Chief Minister is appointed? (2)


